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SECTOR 24 -B CHANDIGARH
ACTIVITY 3

Q1. Find the common factors of the following numbers . Find their HCF

a. 20and 45

20 =| 1 x 20 45=| 1 x 45
2 x10 3 x15
4 X 5 5x 9

Factorsof20: 1,2 ,4 ,5, 10, 20

Factorsof45 : 1,3 ,5,9, 15, 45
Common factors: 1and5,

HCF =5
b. 16 and 56
16=11 x 16 56= |1 x561%
2X 8 2 X 28
4 x 4 4 x 14
{7 x8

Factorsof16 = 1 ,2 ,4,8,16
Factors of56= 1 ,2 ,4,7,8,14,28,56
Common Factors: 1, 2 ,4and 8

HCF =8



c. 36 and 60

36=|1 x364 60 =11 x 60 4
2 X 18 2 x 30

3 x 12 3 x 20

vd x 9 4 x 15
5x 12

v6 X 10

Factorsof36 =1, 2,3, 4,9,12,18, 36
Factorsof60 =1, 2 ,3 ,4,5,6,10,12,15,20, 30, 60
Common factorsare: 1,2,3,4and 12 ,

HCF = 12
d. 42 and 70
42 =11 x 421% 70 =1 x 70 ¢

2 X 21 2 X 35
3 x 14 5x 14
v X 7 v /7 x 10

Factorsof42 =1, 2 ,3,6, 7,14, 21 ,42

Factorsof 70 = 1 ,2 ,5,7, 10 ,14 , 35 ,70

Common Factorsare: 1, 2, 7 and 14

HCF =14



e. 30 and 50

30 =|1x307% 50 =11 x 50
2 x 15 \ZXZS,
3 x 10 5 x 10
15 X 6

Factors of 30 = 1,2 ,3,5,10, 15, 30
Factors of 50 = 1,2 , 5,10, 25, 50
Common factorsare: 1,2 ,5and 10

HCF = 10
f. 40 and 60
40=|1 x 40% 60 =| 1 x 60 |
2 X 20 2 x 30
4 x 10 3 x 20
v5 x 8 4 x 15
5x 12
v 6 x10

Factors of40 =1, 2 , 4,5, 8,10, 20, 40
Factorsof60 =1, 2 ,3 ,4.,5,6,10,12,15,20, 30, 60

Common Factorsare:1 ,2,4,5,10and 20,

HCF= 20



g. 72 and 48

72=|1x72*% 48 =|1 x 481%
2 X 36 2 X 24
3 x 24 3 x 16
4 x 18 4 x 12
6 x 12 v6 X 8
v3 X 9
Factorsof 72 = 1,2,3,4,6,8,9,12,18,24,36, 72
Factorsof48 = 1,2,3,4,6,8,12,16, 24,48
Common Factorsare: 1,2 ,3,4,6,8,12 6 24
HCF : 24
h. 25 and 90
25 :11 X 25 90 =11 x 90 ¢
5 x5 2 X 45
3 x 30
5 x 18
6 x 15
v9 x 10

Factorsof 25: 1,5 ,25
Factorsof 90: 1,2,3,5,6,9,10,15,18,30,45,90
Common Factorsare: l1and5

HCF: 5



Q2. Find HCF by Prime Factorization Method.

a. 25and 40
9|25 22140
51 5 2120
1 2|10
51 5
11
b. 60and 72
_2 160 2| 12
2 |30 2| 36
3 115 2| 18
5 |5 3| 9
1 31 3
1
c. 81 and 117
3| 81 3117
3| 27 3139
3| 9 13 |13
3| 3 1
1

25 = 5 x5
40 = 2 x 2X 2x5
common=5

HCF =5

60 = 2 X 2 XxX3x5
12= 2X2X2X3x3
common= 2 X 2 X 3

HCF =12

8l = 3 x 3 x3x3
117 = 3 x 3 x13
common = 3Xx3

HCF = 9



d. 144 and 198

21144 21198 144 = 2 X2x2x2x3x3
2|72 3199 198 =2x3x3x11

2| 36 3] 33 common Factorsare: 2x3x3
2|18 111 HCF =18

319 1

3| 3
1
e. 42 , 70 , 84
2|42 2| 170 2184
3121 2| 35 2142
1117 11 7 3121
1 1 1] 7
1
42 = 2 X3 x [

0= 2XxXx5x7
84 = 2 x2X3X7

Common factors= 2x 7

HCF =14



f. 24 ,45and 57

2 |24 3145

2112 3115

216 31 5

31 3 1
1

24 =2 x2Xx2Xx3
45 =3 x 3 x5
57 = 3 x 19

Common =3 ,HCF =3
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